Using the rules for calculating wave functions derived in class, we write

$$\Psi_{L,T}^{8+} = \frac{1}{q+} \Theta(4+) \Theta(q^{+}-4+) \frac{1}{q^{-}-h^{-}-(q-h)^{-}} e^{\frac{2}{q+}}$$

uo(h) \$ 1,7 vo1(8-4) 8 is

Defining $2 = h^t/q + we simplify a part of the wave function as follows:$

$$\frac{-Q^{2}-\frac{h^{2}+m_{f}^{2}-(2-4)^{2}+m_{f}^{2}}{h^{+}-h^{+}}=-\theta(z)\theta(1-z).$$

$$\frac{2(1-2)}{2(1-2)+(1-2)(\frac{1}{2}+m_1^2)+2((\frac{9}{4}-\frac{1}{2})^2+m_1^2)} = \frac{-\theta(2)\theta(1-2)2(1-2)}{(2^2+m_1^2)^2+m_1^2}$$
(see eq. (4.1) in KL, $q^m = (q^4, -\frac{Q^2}{4^4}, 0)$

=) the wave function becomes

$$\begin{array}{lll}
V_{L,T}^{8 \times 395}(4,2) &= -\frac{e^{2} + O(2)O(1-2)}{4^{2} + m_{s}^{2} + O^{2} + O(1-2)} \overline{u_{6}(L)} f_{L,T}^{2} v_{\sigma}(q-h) S_{ij}^{2} \\
&(cf. Eq. (4.13), modulo sign)
\end{array}$$

$$\begin{array}{lll}
\text{Start with transverse polarizations: } E_{T}^{M} &= (9,0,E_{\Delta}) \\
&= > \overline{u_{6}(L)} f_{T}^{A} v_{\sigma}(q-L) = -E_{\Delta} \cdot \overline{u_{6}(L)} v_{\sigma}(q-L) =
\end{array}$$

$$\frac{1}{4} = -\sum_{i} \left[S_{0,i-0}! \left(-\frac{k_{1}! + i \sigma \xi' \dot{\delta} k_{1} \dot{\delta}}{q^{+} - k_{1}!} + \frac{k_{1}! - i \sigma \xi' \dot{\delta} k_{1}!}{k^{+}} \right) - S_{00}! \sigma m_{1}! \right]$$

$$\frac{1}{4} = 0$$

$$4 \times 6 = s^{2} \dot{\delta} a^{2} \dot{\delta} b^{2} - a^{2} \dot{\delta} b^{2$$

$$\frac{q + \frac{q}{4} + \frac{1}{4} \left(s^{-1} - \frac{1}{6} + \frac{1}{6} \right)}{\left(s^{+} - \frac{1}{4} \right) \frac{1}{4}} = + 86, -6! \left[\frac{1}{1 - 2} \left(\frac{1}{1 - 2} \right) \left(\frac{1}{1 - 2} \right) \right]$$

$$\frac{1}{\sqrt{2}}\left(\frac{1}{\lambda-i\sigma i}\right) = \lim_{\lambda \to 0} \frac{1}{\left(\frac{1}{2} + \frac{1}{2}\right)} \left(\frac{1}{\lambda-i\sigma i}\right) = \frac{1}{\left(\frac{1}{2} + \frac{1}{2}\right)} \left(\frac{1}{2} + \frac{1}{2}\right) \left(\frac{1}{2} + \frac{1}$$

Therefore, assuming 0 (251, we write

$$4 \frac{1}{1} 8601 \text{ wt} (1+QY) = \frac{\Gamma_5 + mt_3 + \delta_5 5(1-5)}{\Gamma_5 + mt_3 + \delta_5 5(1-5)} \left[(1-90) \frac{5}{7} \cdot \frac{7}{7} (c+7.14) \right]$$

Formier transformed wave function

is obtained using Eq. (A.11) in KL. Defining 92=114td211-2,

we get
$$\int \frac{d^2k}{(2\pi)^2} \frac{e^{i\frac{k}{2} \cdot x}}{k^2 + q_1^2} = \frac{1}{2\pi} k_0(x_1 q_1)$$

$$\int \frac{d^{2}h}{(2\pi)^{2}} e^{\frac{i \cdot \xi \cdot x}{2}} = -i \cdot \frac{\xi}{x} \cdot \frac{\nabla}{x} \int \frac{d^{2}h}{(2\pi)^{2}} e^{\frac{i \cdot \xi \cdot x}{2}} = -i \cdot \frac{\xi}{x} \cdot \frac{\nabla}{x} k_{0}(x_{1})$$

$$=-\frac{i}{2\pi}\left(-K_{1}(X_{1}a_{4})\right)a_{4}\frac{\varepsilon_{1}\cdot x}{|x|}=) \text{ the final result for the}$$

transvorse wave function is

Similarly, for the longitudinal wave function we use
$$\xi_{l}^{h} = \left(\frac{2}{4}, \frac{q}{q^{+}}, \frac{1}{2}\right)$$
 to write $\xi_{l}^{h} = \left(\frac{2}{4}, \frac{q}{q^{+}}, \frac{1}{2}\right)$ to write $\xi_{l}^{h} = \left(\frac{2}{4}, \frac{q}{q^{+}}, \frac{1}{2}\right)$ to $\xi_{l}^{h} = \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}, \frac{1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}, \frac{1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\left[\frac{q+1}{2}\right] + \frac{q+1}{2}\left[\frac{q+1}{2}\left$

Fourier-transforming we arrive at

$$(4/8)^{\frac{1}{2}} = -\frac{e^{\frac{1}{2}}}{2\pi} \cdot 2q[\frac{1}{2}(1-\frac{1}{2})]^{3/2} (1-8661) K_0(x_1 a_f)$$

(f. (4,20), modulo sign.